

A Statutory Body Of The Government Of India

DATE OF SUBMISSION : 6/29/2015 9:38:01 PM Mode of Payment: DD/Payorder/Banker's Cheque APPLICATION ID : WRCAPP3185

DD/Payorder/Banker's Cheque Number: 632843

DD/Payorder/Banker's Cheque Date: 30/05/2015

DD/Payorder/Banker's Cheque Bank: ALLAHABAD BANK, BELA

Website: www.ncte-india.org

Name of the Applicant	: JITENDRA SINGH
Designation	: CHAIRMAN
Address	: N.H. 1068, WARD NO. 12, URRAHAT, REWA (M.P.) - 486001
E-mail Address	: dharmrajeshwar2008@gmail.com
Telephone No (Office)	: 408261
Telephone No (Resi)	: 408261
Mobile No	: 9993452198
	to define the second

Name of the Applicant/Organization/Socity/Trust : DHARMRAJESHWAR SHIKSHA AVAM SAMAJ SEVA SAMITI

Postal Address of the Applicant

Plot Number	: H.NO. 1068
Village/Town/city	: N.H7
Tehsil/Taluka	: REWA
State	: MP
Pin Code	: 486001
Telephone No	: 408261
E-mail ID	4
	dharmrajeshwar2008
	@gmail.com

Permanent Account Number of Society/Trust/body

Street/Road Post Office Town/City District STD Code Fax No. Website Address

: AABAD9068P

: WARD NO. 12 : URRAHAT : REWA : Rewa (MP) : 07662 : 408261

www.dharmrajeshwar mvbela.org

- Truelepy

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीवा (म०प्र०)

, and carrie , pplically

Organization / Society / Trust

Programme	Programme	Board/Univer.	Affiliation
	2015	AWADHESH PRATAP SINGH UNIVERSITY	May 25 2015
			PRATAP SINGH



A Statutory Body Of The Government Of India

Particulars of Applicant Institution

Ir	stitution Information				
	Name of the Institutio	n	: DHARMRA	JESHWAR M	AHAVIDYALAY BELA
	Programm Applied for	r	: D.El.Ed		
	Nature of Application		: New Recog	nition	
	Mode of Course		: Face		
С	complete Postal Add	ress[As mentioned in the A	.ffidavit]		
L	and Identification (P	lot/Khasara No.)	10,	12, 13, 14	
	Land Title	: OWNER	Plot Nur	mber	: 10, 12, 13, 14
5	Street Number	: KEMAR	Village		: VILLAGE KEMAR
	Post Office	: POST BELA	Tehsil/T	aluka	: TEHSIL AMARPATAN
	Town/City	: DISTRICT SATNA	State		: MP
	District	: Satna (MP)	Pin Cod	le	: 485881
	Telehpone No	: 07672408261	Fax No.		: 07672408261
•	E-mail ID	: dharmrajeshwar2008@gmail. com		e Address	: www.dharmrajeshwarmvbela. org
1	nstitution is for		: Coed		
1	nstitution is a Minori	ty Institution	: N.A.		
-	Type of Institutions		: Private		

(Please attach supporting documents. In case of institutions financed by Central Govt./State Govt./UT Admn. to the extent of not less than 50% of their recurring cost, a certificate to this effect from the Governmant concerned.)

Affiliating Body / University Name Address Telephone Nos.

: BOARD OF SECONDARY EDUCATION M P BHOPAL

: BOARD OF SECONDARY EDUCATION, MADHYA PRADESH BHOPAL

: 07552551544

Revelopy Frick

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीवा (म०प्र०)



A Statutory Body Of The Government Of India

Details of already Submitted Application(s)

Details of the Application(s) for Teacher Education Programmes(s) already submitted by the same Applicant/Organization/Society/Trust which is/are pending for final decision

Name of the Institution	Carlos and C	A second second	I DO TANK I DO TAN	Academic			Status
	Application	on ID	10	session for	Proposed intake	Regional Committe to	
te tur - con	a los depe		Program		intance	whom	
			me	applied		applied	

Frueeo

अध्यक्ष धर्मराजेश्वर शिक्षा समिति जर्रहट रीवा (म०प्र०)



National Council For Teacher Education A Statutory Body Of The Government Of India

	Details of Infrastructural Facilities	available for proposed programme
1	Area of the land in possession (in sq. mts.)	: 4218
	Built up area earmarked for the programm (in sq. mts.)	: 3500
	Whether the building constructed / proposed to be constructed on the same land.	: Yes
	Date of completion of construction of the building.	: 30/04/2015
100	Name of the competent authority for approval of	: SARPANCH
6	building plan and issue of completion certificate	
1	Address of the competent authority for approval of building plan and issue of completion certificate	: SARPANCH, GRAM PANCHAYAT KEMAR, JANPAD PANCHAYAT AMARPATAN, DISTRICT SATNA (M.P.)
1	Whether Bldg. is disabled -friendly as per the	: Yes
	law.	
-	Total Built up Area (in sq. meter)	: 3500
1	Total Built up Area (in sq.ft.)	: 37673.65

Specification of Rooms and other infrastructural facilities

Description	Room No.	length in meter	Breadth in meter	Carpet area in sq. meter
Class Room	4	9.00	7.50	270
Multipurpose Hall	1	18.00	10.50	189
Multipurpose Room	1	9.00	7.50	67.50
Seminar room / Tutorial room	1	9.00	7.50	67.50
Library	1	18.00	10.50	189
Principal Room	1	7.50	4.50	• 33.75
Administrative	1	9.00	7.50	67.50 pueco by

अध्यक्ष

Cifice				
Store Room	1	5.10	4.45	22.69
Sports Store Room	1	7.50	6.00	45.00
Girls Common Room	1	7.50	4.50	33.75
Boys Common Room	1	7.50	4.50	33.75
Art & Crafts Room	1	5.10	4.45	22.69
Music Room	1	9.00	7.50	67.50
Socially Useful Productive Work (SUPW) Room	1	9.00	7.50	67.50
Science Lab1	1	9.00	7.50	67.50
Psychology Lab	1	9.00	7.50	67.50
Educational Technology (ET) / ICT Lab	1	9.00	7.50	67.50
Workshop	1	9.00	7.50	67.50
Any other Room / Hall	1	9.00	7.50	67.50
Any other Room / Hall	1	9.00	7.50	67.50
Toilets (Male)	2	4.50	3.60	32.40
Toilets (Male)	1	7.50	4.50	33.75
Toilets (Female)	2	4.50	3.60	32.40
Toilets (Female)	1	7.50	4.50	33.75

Rowelop

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीवा (म०ड्र०)



A Statutory Body Of The Government Of India

Details of Instructional Resources

Library	
Total number of Titles	: 1200
Total number of Books	: 3272
Journals	: 14
Computer Laboratory	
No. of Computers	: 20
Internet Access	: Yes
LAN	: Yes

Academic Staff (Applicable for existing institutions)

Details of Academic Posts available at present

Name of the Post	Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
PRINCIPAL	1	AS PER MP GOVT	1	0

Technical Support Staff

Name of the Pos	t Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
LECTURER	15	AS PER MP GOVT	15	0

Administrative Staff

Details of Non-Academic Staff available at present

Number of Post	Pay Scale	No.of Filled Posts	No. of Vacant Posts
1	AS PER MP GOVT	1	0
1	AS PER MP GOVT	1	0 Goveenby
	Number of Post	1AS PER MP GOVT1AS PER MP	1AS PER MP1GOVT11AS PER MP1

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीवा (म०प्र०)

LAB ASSTT	1	AS PER MP GOVT	1	0
PEON	2	AS PER MP GOVT	2	0
UDC	1	AS PER MP GOVT	1	0 Bouceupy

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीवा (म०प्र०)

2-

R



National Council For Teacher Education A Statutory Body Of The Government Of India

Arrangement for Games and Sports

Number of Playgrounds	length in meter	Breadth in meter	Carpet area in sq. meter
	60	39.17	2350.2

Website: www.ncte-india.org

अध्यक्ष धर्मराजेश्वर शिक्षा समिति उर्रहट रीवा (म०प्र०)